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Harris-Benedict equation

Step 1:
BMR calculation
	Men


	66 + (13.7 x weight in kg) + (5 x height in cm) – (6.8 x age)

	Women


	655 + (9.6 x weight in kg) + (1.8 x height in cm) – (4.7 x age)


(1 inch = 2.54 cm / 1 kg = 2.2 lbs / 1 stone = 14 lbs)

For example:

Female

30 years old

5’ 6” tall (167.6 cm) 

Weight 8 stone 8 lbs (54.5 kg)
BMR = 655 + 523 + 302 – 141 = 1339 calories/day

Step 2:

Once the BMR is known, the daily energy expenditure (TDEE) can be calculated by multiplying BMR by the activity multiplier.

Activity multiplier

	Sedentary
	BMR x 1.2


	Little or no exercise, desk job.

	Lightly active
	BMR x 1.375


	Light exercise/sports 1-3 days/week.

	Moderately active
	BMR x 1.55


	Moderate exercise/sports 3-5 days/week.

	Very active
	BMR x 1.725
	Hard exercise/sports 6-7 days/week.



	Extra active
	BMR x 1.9
	Hard daily exercise/sports and physical job.



For example:

As above, BMR is 1339 calories/day.

The activity level is moderately active (workout 3-4 times/week) 
The activity factor is 1.55

The TDEE = 1.55 x 1339 = 2075 calories/day
	Calculate your own energy requirements:
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